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A BEESH
B YRES(HZESD)
& EXE (ctel: &
_ _ _ Muo
SN CR(EH) - NRAY - BES 01l &k o e HRE2
SEXE 72,000 103,422 A31,422
NE2aS3HEIAE EX N & 72,000 70,000 2,000
311 X =0IAt&f e 72,000 70,000 2,000
06 JIEtXIS SO0 AH& S 72,000 70,000 2,000
OIE2SZHeAE EX A= Ol aEs 72,000
HY2LZH(BFESD) 115,080 111,880 3,200
Jl=&Hl 115,080 106,480 8,600
Jl=3| 115,080 106,480 8,600
201 Let2d| 35,520 33,840 1,680
01 AtE22(Hl 35,520 33,840 1,680
OJIZMEESSEHI 8,000
OJIEt=&Hl 4,000
OO0kt & SLZ 2L S| 23,520
202 O4H| 74,160 68,640 5,520
01 WY 71,280 68,640 2,640
OnEsII=d =20
220,000& * 278 = 12& 71,280
02 MO 2,880 0 2,880
SH2 WO 240,000& = 123 2,880
203 HRF&H| 4,200 0 4,200
04 BEASIZFFEHI 4,200 0 4,200
ORAN2E JRFAHI 350,000& = 12& 4,200
204 XA 1,200 0 1,200
01 Mg HRHA| 1,200 0 1,200
OXMg PR=HAH| 100,000& = 123 1,200
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